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Note: For 2015 and previous batchs, (Part A- | to X questions) shall carry 2 marks each.

KUy UW(V"-“:.'E/WJb«;u(uﬁgj.l—y’ﬁ/;-rfﬁ‘(»ﬁcd:wSLLJ}QUWU.?@ U”//{{d

-C‘-U,J‘Ut;)u:/’}?
26Ut e Vsl 22 S e Vi F 2 e Ui 50 10 sl
(10 x 1 = 10 Marks) e P Ll e
LUF 20000k P 126U1v - wc,)vtyéu)lyosdﬁ(“vfwgu“unu, Uy 8UEPnae 2
(5 x 6 = 30 Marks) e 06 L v c.ucy
(U (500) 6L iz sl Uty 033 e ULt Uy St 3
(3 x 10 = 30 Marks) P10 e S
J}L«ﬂ?
1 le
< “h )
1
< log, (m) (i)
e |5-12i] = (iii)
;/r)‘“&ﬁd/ cosl8  (iv)

1 X

1
BB X g T T S W)

2 —47 .
D2 aINE i A {_5 J S1(vi)

. . 1 1 .
s Joed S tan (A+B) 7 tan B = JolanA= o i)

RS tan(tan”% + tan "%) = (viii)

i 1
e Principal Value« sin € = > (ix)

0
a b C
sind sinB sinc

?{rradius circumvaquBcwuﬂ'/uj/fl (x)



(»,-47

41 0 L =1 ©
T _ pT 4T - - = = 7
(4B)" =B 4 )/':‘.'z:b"}’B 2-10 /)L./“A 210 S )
11 -1 4 1 0
1 1 1
a b c =0 e @
a+b c+b a+b
“ 13x+43
S5 2 +17x+30 O
122
A —44-51=0 5. . A=|21 2| 7 )
' 21

1+sin 4 tan 4 +sec—1
" cosd tanAd—secA+1 f}/ab ©

1+cos268
" sin26 S @)

X+y+z=xyz S ptan" ' x+tan” y+tanz=7 J]
IVACY y (8

,/r)w up tothed” terms g g (2x - 3)? (9)

(}"J}
S 3x+4y+52=182x-y+8z=13,5x-2y+7z=20 =l (10)

_ESenl

matrix inversion

cos10cos30cos50cos70= % Sk (1)

2x* +3x+4

.)/Lj:fQ:J/d’Z/ (x-D(x*+2)

.acos A+bcos B+ ccosC=4Rsin 4sin BsinC ;/(:/.L‘quBwao/ (13)
sin@+cosd =2 S F (14

(12)

JAQAG* @A



